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JIE sz Bib K 4 PV a FRE | FE | 1XB | 2KEB | total
1 1 5] Eo tx hr+ | R 4 9.50 9.75 | 19.25
2 3 5] B D t¥* BEF3 | TR 2 8.00 750 | 15.50
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(=12 Bib K 4 2UHF A | FE | 1KH | 2KH | total
1 8 N B R | 37xR Yavdry | ' 4 4.75 575 | 10.50
2 5 | N KB :'7“*,77'(3 RN | 1 | 525 | 500 1025
3 7 5] # % 73% | HlbN| 3 5.00 475| 975
4 6 I & & vt | V80 3a9R7 | XEND 1 0.00 5.00 | 5.00
5-6F X F
I iz Bib K % 2V)HF FRE | FHE |1KB | 2KB | total
1 12 5! woOxE & 44+ | HUMN| 6 6.25 6.00 | 12.25
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JE AL Bib K % VAT FRE | FHE |1KB | 2KB | total
1 15 MHRN B E JA4F4 AY¥h | BHi/h | 6| 1200 | 13.00 | 25.00
2 14 B H T K FUR T | Bl 5 1150 | 1250 | 24.00




